25)y = |f(x)|and y = f(|x|)



Worked example Your turn

f(x)=x%2+4x+3 f(x) =x%—4x +3
Sketch: Sketch:

- y=|f)| - y=If)|

« y=f(x) « y=fUxD

Graphs used with permission from DESMOS: https://www.desmos.com/
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Worked example Your turn
f(x) =x%2+3x—10 f(x) =x%2—-3x—-10
Sketch: Sketch: 1
© y=1f) © y=1f()
-10 0
© y=fxD © y=fxD
-10 0
\
Graphs used with permission from DESMOS: https://www.desmos.com/
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Worked example Your turn

A sketch of y = f(x) is shown. A sketch of y = f(x) is shown.
(—1.786.8.209)
(—1.12.4.061) ° >
| (~2,0) (0,0)  (3.0) || _ (3_0)+ X 00
EEEEN W 10 3 -
T 10 [ oy 10
|| L]
(1.12, —4.061)
\J .(1..786. 75.-209.) i —
Sketchy = |f(x)| and y = f(|x|) on separate axes. Sketchy = |f(x)| and y = f(|x|) on separate axes.
1
[l
(-1.786 s>09)A
’ (1.12, 4.061)
|

v 2. 2, 2,
-10 5 o] 10 -10 -
(-3,0) (0.0)
(—1.12, —4.061) (1.12, —4.061)
- 5

Graphs used with permission from DESMOS: https://www.desmos.com/
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Worked example Your turn

y = cosx, 2n<x<2m y =sinx, —2n<x <2m
Sketch: Sketch:
* y=|cosx]| e y=|sinx|

* Yy =cos|x| * y=sin|x|

Graphs used with permission from DESMOS: https://www.desmos.com/
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